Ch? Numerical Integration [142]
* How can we estimate
$$\int f(x) dx$$
?
We use quadrature formula QTFJ.
Def (quadrature Formula)
• Suppose that $a = x_0 < x_1 < \dots < x_m = b$.
• A formula of the form QTFJ = $\sum_{k=0}^{m} w_k f(x_k)$
 $= w_0 f(x_0) + w_i f(x_i) + \dots + w_m f(x_m)$
with the property that
 $\int f(x) dx = QTFJ + ETFJ$
is called a numerical integration (or quadrature formula).
• ETFJ is called the truncation error for integration.
• Xo, X1, ..., Xm are called the quadrature nodes.
• We will shedy two types of QTFJ:
D closed Neuton-Coles Quadrature Formula:
STUDENTS-HUB@m Trapezoidal Rule
(E) Simpson's Rule
(E) Gauss - Legendre Formula:
(E) Gauss - Legendre Formula:
(E) Gas (f)

EXP Derive the Simpson's Rule
$$\int_{a}^{b} f(x)dx = \frac{h}{3} (f_{0} + yf_{1} + f_{0})^{\lfloor || y||}$$

• Here $n = 2$ since we have 3 points h h h
• Use lagrange Poly. $\Rightarrow f(x) \approx P_{2}(x)$ x_{0} x_{1} x_{1} h
where $f_{2}(x) \ge \frac{y_{0}(x-x_{1})(x-x_{0})}{(x_{0}-x_{1})+y_{1}(x_{1}-x_{0})(x_{1}-x_{1})} + \frac{y_{1}(x-x_{0})(x-x_{1})}{(x_{1}-x_{0})(x_{1}-x_{1})} + \frac{y_{2}(x-x_{0})(x-x_{1})}{(x_{2}-x_{0})(x_{2}-x_{1})}$
• Hence, $\int_{a}^{b} f(x)dx = \int_{a}^{b} f_{1}(x)dx$
 $= \int_{a}^{\frac{f}{2}} \frac{f_{0}}{xh^{2}} (x-x_{1})(x-x_{0})dx + \int_{x_{0}}^{\frac{f}{2}} \frac{f_{1}}{h^{2}} (x-x_{0})(x-x_{1})dx$
 $+ \int_{x_{0}}^{x} \frac{f_{1}}{xh^{2}} (x-x_{0})(x-x_{1})dx$
 $+ \int_{x_{0}}^{x} \frac{f_{1}}{xh^{2}} (x-x_{0})(x-x_{1})dx$
. Use the following change of variables:
 $x-x_{0} = ht$ $f \Rightarrow uhen \ x = x_{0} \Rightarrow t = 0$
 $dx = h dt$ $f \Rightarrow x = x_{1} \Rightarrow x = x_{0} \Rightarrow t = 2$
. Note Must $x - x_{1} = x - (x_{0} + h) = (x - x_{0}) - h = ht - h = h(t-1)$
 $x - x_{2} = x - (x_{0} + 2h) = (x - x_{0}) - h = ht - h = h(t-1)$
 $x - x_{2} = x - (x_{0} + 2h) = (x - x_{0}) - h = ht - h = h(t-1)$
 $x - x_{2} = x - (x_{0} + 2h) = (x - x_{0}) - h = ht - h = h(t-1)$
Studenter, $\int_{x_{0}}^{2} f_{2} \frac{f_{0}}{2h^{2}} y(t-1)(h)(t-2) hdt - \int_{x_{0}}^{2} \frac{f_{1}}{2h^{2}} (y(h)(h)(t-2) hdt$
 $= \frac{hf_{0}}{2} \int_{0}^{2} (\frac{t}{2} - 3t + 2) dt - hf_{1} \int_{0}^{2} (\frac{t}{2} - x^{2}) dt + \frac{hf_{1}}{2h^{2}} (\frac{t}{2} - \frac{t}{2}) \int_{0}^{2} dt$
 $= \frac{hf_{0}}{x^{2}} (\frac{t}{3}^{2} - \frac{t}{2}t^{2} + xt) - hf_{1} (\frac{t}{3}^{2} - t^{2}) = \frac{hf_{0}}{x^{2}} (\frac{t}{3}^{2} - \frac{t}{2}) \int_{0}^{2} dt$
 $= \frac{hf_{0}}{x^{2}} (\frac{t}{3}^{2} - \frac{t}{2}t^{2} + xt) - hf_{1} (\frac{t}{3}^{2} - t^{2}) = \frac{hf_{0}}{x^{2}} (\frac{t}{3}^{2} - \frac{t}{2}t^{2}) = \frac{hf_{0}}{x^{2}} (\frac{t}{3}^{2} - \frac{t}{2}t^{2} + tf_{1} + f_{2}$

The Degree of Precision (DP)
The Degree of Precision (DP)
Re call that the quadrature formula:

$$\int_{1}^{k} f(x) dx = QEFJ + E[F]$$
To derive the truncation error E[F] for any quadrature
formula QEFJ, we first sludy the Degree of Precision (DP)
for this quadrature formula QEFJ is a positive
integer n s:t QEFJ is exact "EEFJ=0" for $f_{k} = x$ where
 $k = 0, 1/2, ..., n$
That is: $E[F_{0}] = E[x^{0}] = E[I] = \int_{1}^{b} dx - Q[I] = 0$
 $E[F_{1}] = E[x^{0}] = \int_{1}^{b} x^{2} dx - Q[X^{0}] = 0$
 $E[F_{1}] = E[x^{0}] = \int_{1}^{b} x^{2} dx - Q[X^{0}] = 0$
 $E[F_{n}] = E[x^{n}] = \int_{1}^{b} x^{n} dx - Q[x^{n}] = 0$
StUDENTS-HUB com
 $h = h = find the truncation error E[F]$
we use n to find the truncation error $E[F]$
which has the general form:
 $x = E[F_{1}] = K f(c)$ where $c \in [a, b]$ and
 K is a constant that depends on the DP=n and h.

Eff Determine the DP of the Trapezoidal Rule
and we it to find the truncation error.

Recall that the Trapezoidal Rule is:

$$\int_{0}^{b} F(x) dx = Q[f] + E[f]$$

$$= \frac{h}{2}[f_{0}+f_{1}] + \frac{-h^{3}f(c)}{12} + \frac{h}{x_{0}} + \frac{h}{x_{1}}$$

We it will be enough to apply Trapezoidal Rule over the interval
 $[c_{0},1] \Rightarrow 1$

$$\int_{0}^{1} f(x) dx = \frac{1}{2} [f(0) + f(1)] + \frac{-h^{3}f(c)}{12}$$

$$\int_{0}^{1} f(x) dx = \frac{1}{2} [f(0) + f(1)] + \frac{-h^{3}f(c)}{12}$$

$$\int_{0}^{1} f(x) dx = \frac{1}{2} [f(0) + f(1)] + \frac{-h^{3}f(c)}{12}$$

$$\int_{0}^{1} dx = 1 = \frac{1}{2} [0 + 1] \quad with E[x] = 0 \quad since f = 1$$

$$\int_{0}^{1} x dx = \frac{1}{3} = \frac{1}{2} [0 + 1] \quad with E[x] = 1 \quad since f = x$$

$$\int_{0}^{1} x^{x} dx = \frac{1}{3} \pm \frac{1}{2} [0 + 1] \quad with E[x] = \frac{1}{3} - \frac{1}{2} = -\frac{1}{6} \neq 0 \quad since f = x$$

$$\int_{0}^{1} x^{x} dx = \frac{1}{3} \pm \frac{1}{2} [0 + 1] \quad with E[x] = \frac{1}{3} - \frac{1}{2} = -\frac{1}{6} \neq 0 \quad since f = x$$

$$\int_{0}^{1} x^{x} dx = \frac{1}{3} \pm \frac{1}{2} [0 + 1] \quad with E[x] = \frac{1}{3} - \frac{1}{2} = -\frac{1}{6} \neq 0 \quad since f = x$$

$$\int_{0}^{1} x^{x} dx = \frac{1}{3} \pm \frac{1}{2} [0 + 1] \quad with E[x] = \frac{1}{3} - \frac{1}{2} = -\frac{1}{6} \neq 0 \quad since f = x$$

$$\int_{0}^{1} x^{x} dx = \frac{1}{3} \pm \frac{1}{2} [0 + (x - x_{0})] = (x - x_{0})$$

Stude the DP = n = 1 for the Inspectidal Rule.
(not)
Now to find K, we consider $f(x) = (x - x_{0}) = (x - x_{0})$

Stude $f(x) = 2(x - x_{0}) \Rightarrow f'(x) = 2 \Rightarrow E = 2K + O$

Stude $f(x) = 1$ for $e = 5t$ inspece $\int_{1}^{1} (x - x_{0})^{2} dx - \frac{h}{2} (f(x_{0}) + f(x_{0}))$

$$= \frac{(x - x_{0})}{x_{0}} = \frac{h^{2}}{x_{0}} = \frac{h^{2}}{x_{0}}$$

Exp Determine the DP of the Simpson's Rule and
use it to find the truncation error.
Recall that the Simpson's Rule is:

$$\int_{x_{0}}^{b} f(x) dx = \int_{x_{0}}^{x_{0}} [f_{0} + 4f_{1} + f_{2}] + \frac{-h}{-h} \frac{f(x)}{f(x)}$$

$$H will be enough to apply Simpson's the since f(x) = \frac{h}{2}$$

$$\int_{x_{0}}^{x} f(x) dx = \frac{h}{3} [f(0) + yf(1) + f(z)] - \frac{h}{4} \frac{f(x)}{f(x)}$$

$$\int_{x_{0}}^{z} f(x) dx = \frac{h}{3} [f(0) + yf(1) + f(z)] - \frac{h}{90} \frac{f(x)}{90}$$

$$\int_{x_{0}}^{z} dx = 2 = \frac{h}{3} [1 + 4 + 1] \quad with E[1] = 0 \quad since f = 1$$

$$\int_{x_{0}}^{x} dx = \frac{h}{3} = \frac{h}{3} [0 + 4 + 2] \quad with E[x^{2}] = 0 \quad since f = x$$

$$\int_{x_{0}}^{z} x^{2} dx = \frac{h}{3} = \frac{h}{3} [0 + 4 + 4] \quad with E[x^{2}] = 0 \quad since f = x^{2}$$

$$\int_{x_{0}}^{z} x^{3} dx = 4 = \frac{h}{3} [0 + 4 + 8] \quad with E[x^{2}] = 0 \quad since f = x^{2}$$

$$\int_{x_{0}}^{z} x^{3} dx = 4 = \frac{h}{3} [0 + 4 + 8] \quad with E[x^{2}] = 0 \quad since f = x^{2}$$

$$\int_{x_{0}}^{z} x^{3} dx = 4 = \frac{h}{3} [0 + 4 + 8] \quad with E[x^{2}] = 0 \quad since f = x^{2}$$

$$\int_{x_{0}}^{z} x^{3} dx = 4 = \frac{h}{3} [0 + 4 + 8] \quad with E[x^{2}] = 0 \quad since f = x^{2}$$

$$\int_{x_{0}}^{z} x^{3} dx = 4 = \frac{h}{3} [0 + 4 + 16] = \frac{19}{3} \quad with E[x^{2}] = 0 \quad since f = x^{2}$$

$$\int_{x_{0}}^{z} x^{3} dx = 4 = \frac{h}{3} [0 + 4 + 16] = \frac{19}{3} \quad with E[x^{2}] = 0 \quad since f = x^{2}$$

$$\int_{x_{0}}^{z} x^{3} dx = 4 = \frac{h}{3} [0 + 4 + 16] = \frac{19}{3} \quad with E[x^{2}] = 0 \quad since f = x^{2}$$

$$\int_{x_{0}}^{z} x^{4} dx = \frac{19}{5} = \frac{10}{5} + 4 + 16] = \frac{19}{3} \quad with E[x^{2}] = \frac{10}{5} + \frac{10}{5} + \frac{10}{5} + \frac{10}{5} = \frac{10}{5} \quad with E[x^{2}] = \frac{10}{5} + \frac{10}{5} = \frac{10}{5} = \frac{10}{5} + \frac{10}{5} = \frac{10}{5}$$

Now to find K, we consider $f(x) = (x - x_0)^{1/1}$ [19]
=) $f(x) = 4(x - x_0)^3 = (x - x_0)^4$
$f(x) = 12 (x - x_0)^2$ (4)
$f(x) = 12(x - x_0) \qquad (4)$ $f'(x) = 24(x - x_0) = f(x) = 4!$
$\Rightarrow f'(c) = 4!$
• Hence, E=Kf(c)
E = 24 K - 0
• But $E = \int_{x_0}^{x_2} (x - x_0) dx - \frac{h}{3} \left[f(x_0) + y f(x_1) + f(x_2) \right]$
$= \frac{(x - x_0)^5}{5} \Big _{x_0}^{x_2} - \frac{h}{3} \Big[0 + 4(x_1 - x_0)^4 + (x_2 - x_0)^4 \Big]$
$= \frac{(x_2 - x_0)^5}{5} - \frac{h}{3} \left[0 + 4 h^4 + (2h)^4 \right]$
$= \frac{(2h)^{5}}{5} - \frac{h}{3}(4h^{4} + 16h^{4})$
$=\frac{32h^5}{5}-\frac{20h^5}{3}$
STUDENTS- \overline{HUB} . \overline{COP} \overline{D} \overline{COP} \overline{D} \overline{COP} \overline{D} \overline{COP} \overline{D} \overline{COP} \overline{D} \overline{COP} \overline{D} \overline{COP} \overline{COP} \overline{D} \overline{COP} \overline{COP} \overline{D} \overline{COP}
· From () and (2) we get 24K = -15 = 1- 90
• Hence, $E = \kappa f(c)$ = $\frac{-h^5 f(c)}{90}$

Exp Determine the DP of the Simpson's
$$\frac{3}{8}$$
 Rule and (15)
Use if to find the truncation error:
Recall that the Simpson's $\frac{3}{8}$ Rule is:

$$\int_{x_0}^{x_3} f(x) dx = \frac{3h}{8} \left[f_0 + 3f_1 + 3f_2 + f_3^{-} \right] + \frac{-3h^5}{80} \frac{f(c)}{80}$$
It will be enough to apply Simpson's $\frac{1}{x_0} + \frac{1}{x_0} +$

• Now to find K, we consider $f(x) = (x - x_0)^{n+1}$ [15]	
$\Rightarrow f(c) = 4! = (x - x_0)^4$ $= (x - x_0)^4$ $= (x - x_0)^4$	
E = 24 K - D	
· But E = True Value - Estimate Value	
$= \int_{(x-x_0)}^{x_3} dx - \frac{3}{8}h \left[f_0 + 3f_1 + 3f_2 + f_3 \right]$	
$= \frac{(x - x_0)}{5} \int_{-\frac{3h}{8}}^{x_3} \frac{3h}{8} \left[f(x_0) + 3f(x_1) + 3f(x_2) + f(x_3) \right]$	
$= \frac{(X_3 - X_0)^5}{5} - \frac{3h}{8} \left[0 + 3(X_1 - X_0) + 3(X_2 - X_0)^4 + (X_3 - X_0)^4 \right]$	
$=\frac{(3h)^{5}}{5}-\frac{3h}{8}\left[3h^{4}+3(2h)^{4}+(3h)^{4}\right]$	
$=\frac{243h^5}{5}-\frac{99h^5}{2}$	
$E = \frac{-9h^5}{10} - 2$ $E = \frac{-9h^5}{10} - 2$ $K = \frac{-9h^5}{10} = K = \frac{-3h^5}{80}$	
• From () und (4) STUDENTS-HUB.com (4) Uploaded By: anony	ymous
• Hence, $E = K + (c)$ $= -3h^{5} + f(c)$	
80	

Even the following quadrature formula:

$$\int_{3h}^{3h} f(w) dx \neq Q[f] = \frac{3h}{4} [3f(h) + f(3h)].$$
Find its DP and its truncation error E[f].

$$\int_{3}^{3} f(x) dx \approx \frac{3}{4} [3f(n) + f(3)]$$

$$\int_{0}^{3} dx = 3 = \frac{3}{4} [3 + 1] \quad with E[i] = 0 \quad since f = 1$$

$$\int_{0}^{3} dx = \frac{q}{2} = \frac{3}{4} [3 + 3] \quad with E[x] = 0 \quad since f = x$$

$$\int_{0}^{3} x^{2} dx = \frac{q}{2} = \frac{3}{4} [3 + 3] \quad with E[x] = 0 \quad since f = x$$

$$\int_{0}^{3} x^{2} dx = \frac{q}{2} = \frac{3}{4} [3 + 27] = \frac{q_{0}}{4} \quad with E[x^{3}] = 0 \quad since f = x$$

$$\int_{0}^{3} x^{2} dx = \frac{g_{1}}{4} = \frac{3}{4} [3 + 27] = \frac{q_{0}}{4} \quad with E[x^{3}] = 0 \quad since f = x^{2}$$

$$\int_{0}^{3} x^{2} dx = \frac{g_{1}}{4} + \frac{3}{4} [3 + 27] = \frac{q_{0}}{4} \quad with E[x^{3}] = \frac{g_{1}}{4} - \frac{g_{1}}{4} + \frac{g_{1}}{4} + \frac{g_{2}}{4} + \frac{g_{2}}{4} + \frac{g_{1}}{4} + \frac{g_{2}}{4} + \frac{g_{1}}{4} + \frac{g_{2}}{4} = \frac{g_{1}}{4} + \frac{g_{1}}{4} + \frac{g_{2}}{4} + \frac{g_{2}}{4} + \frac{g_{1}}{4} + \frac{g_{2}}{4} + \frac{g_{1}}{4} + \frac{g_{2}}{4} + \frac{g_{2}}{4} + \frac{g_{1}}{4} + \frac{g_{1}}{4} + \frac{g_{2}}{4} + \frac{g_{1}}{4} + \frac{g_{1}}{4} + \frac{g_{2}}{4} + \frac{g_{1}}{4} + \frac{g_{2}}{4} + \frac{g_{1}}{4} + \frac{g_{1$$

Even the following quadrature formula:

$$\int_{-1}^{1} f(x) dx \approx Q[f] = \frac{1}{2} \left[f(-1) + 3 f(\frac{1}{2}) \right]$$
Find its DP and its truncation error. E[f].

$$\int_{-1}^{1} dx = 2 = \frac{1}{2} \left[1+3 \right] \text{ with } E[1] = 0 \quad \text{since } f = 1$$

$$\int_{-1}^{1} x dx = 0 = \frac{1}{2} \left[-1+1 \right] \text{ with } E[x] = 0 \quad \text{since } f = x$$

$$\int_{-1}^{1} x^{2} dx = \frac{2}{3} = \frac{1}{2} \left[1+\frac{1}{3} \right] \text{ with } E[x] = 0 \quad \text{since } f = x^{2}$$

$$\int_{-1}^{1} x^{2} dx = \frac{2}{3} = \frac{1}{2} \left[1+\frac{1}{3} \right] \text{ with } E[x] = 0 \quad \text{since } f = x^{2}$$

$$\int_{-1}^{1} x^{2} dx = 0 \neq \frac{1}{2} \left[-1+\frac{1}{3} \right] = -\frac{1}{4} \text{ with } E[x] = 0 \quad \text{since } f = x^{2}$$

$$\int_{-1}^{1} x^{2} dx = 0 \neq \frac{1}{2} \left[-1+\frac{1}{3} \right] = -\frac{1}{4} \text{ with } E[x] = 0 \quad \text{since } f = x^{2}$$

$$\int_{-1}^{1} x^{2} dx = 0 \neq \frac{1}{2} \left[-1+\frac{1}{3} \right] = -\frac{1}{4} \text{ with } E[x] = 0 \quad \text{since } f = x^{2}$$

$$\int_{-1}^{1} x^{2} dx = 0 \neq \frac{1}{2} \left[-1+\frac{1}{3} \right] = -\frac{1}{4} \text{ with } E[x] = 0 \quad \text{since } f = x^{2}$$

$$\int_{-1}^{1} x^{2} dx = 0 \neq \frac{1}{2} \left[-1+\frac{1}{3} \right] = -\frac{1}{4} \text{ with } E[x] = 0 \quad \text{since } f = x^{2}$$

$$\int_{-1}^{1} x^{2} dx = 0 \neq \frac{1}{2} \left[-1+\frac{1}{3} \right] = -\frac{1}{4} \text{ with } E[x] = 0 \quad \text{since } f = x^{2}$$

$$\int_{-1}^{1} x^{2} dx = 0 \neq \frac{1}{2} \left[-1+\frac{1}{3} \right] = -\frac{1}{4} \text{ with } E[x] = 0 \quad \text{since } f = x^{2}$$

$$Hence, \quad DP = n = 2 \quad \text{and } \text{ there fore } E = k \text{ f(c)} = 31 = 6$$

$$\Rightarrow E = 6 \text{ k} - 0$$

$$\text{sout } Ta \text{ ke } f(x) = (x - x_{0}) = (x + 1)^{3} \Rightarrow f(\frac{1}{3})$$

$$= (x + 1)^{3} \int_{-1}^{1} - \frac{1}{2} \left[0 + 3 \left(\frac{1}{3} + 1 \right)^{3} \right]$$

$$K = \frac{2}{27}$$

$$\text{Hence, } E = K \text{ f(c)} \text{ uploaded By: anonymous}$$

$$= \frac{2 \text{ f(c)}}{27}$$

$$E = \frac{4}{7} = 2$$

$$E = 0 \text{ we get}$$

Composite Trapezoidal Rule (CTR)
This method approximates the area under the curve

$$y = f(x)$$
 over $[a,b]$ using a series of trapezoide that
lie above the intervals $\{[x_{K}, x_{K+1}]\}$.
The (CTR)
• Assume that the interval $[a,b]$ is subdivided into M subintervals
 $[x_{K}, x_{KH}]$ each of width $h = \frac{b-a}{M}$ using equally spaced
nodes $x_{K} = a + Kh$ for $K = 0, 1, 2, ..., M$:
 $\frac{h}{m} + \frac{h}{m} + \frac$

$$\begin{split} & \underbrace{Fry}_{(VSC + VC} \text{ Use } CTR + be estimate & \int_{0}^{7} e^{x} dx & with 10 \ \text{composition.} \end{split}$$

Composit Simpson Rule (CSR)

This method approximates the area under the curve y= f(x) over [a,b].

156

Even Use CSR to estimate
$$\int_{2}^{9} e^{x} dx$$
 with 5 compositions. [157]
Use 4 chapping digits.
• $h = \frac{b-a}{2M} = \frac{4-2}{2(6)} = \frac{2}{10} = 0.2$ and $f(x) = e^{x} = (2.78)^{x}$
• $h = \frac{b-a}{2M} = \frac{4-2}{2(6)} = \frac{2}{10} = 0.2$ and $f(x) = e^{x} = (2.78)^{x}$
• $\int_{2}^{9} e^{x} dx = \int_{2}^{24} e^{x} dx + \int_{2}^{6} e^{x} dx + \int_{3}^{6} e$

Note that the True Value is $\int_{2}^{9} e^{x} dx = e^{1} = e^{2} = 47.2090939392$

Find the number of compositions and the skp [153]
size needed to estimate
$$\int_{2}^{3} \frac{dx}{x}$$
 with accuracy 5x10?
Using [] CTR
[] CTR
[] CSR
[] $IEI = \left| \frac{-h^{2} f(c)}{12} (b-a) \right| \leq 5x10^{9}$
 $h \leq \sqrt{12 \times 10^{9} x_{4}} = 0.000219089$
 $E = \frac{2}{x^{2}} \leq \frac{2}{z^{2}}$
 $h \leq \sqrt{12 \times 10^{9} x_{4}} = 0.000219089$
 $E = \frac{2}{y}$
 $H = \frac{b-a}{h} \geq \frac{5}{0.000219089} = 22821.77562543$
so the number of compositions is $H \geq 22.822$ and $\# of$
point = H+1
 $F(x) = \frac{1}{x^{4}}$
 $f(x) = \frac{1}{x^{4}} = \frac{2}{x^{4}} \leq \frac{2}{z^{4}} = \frac{2}{x^{4}}$
 $F(x) = \frac{1}{x^{4}} = \frac{1}{x^{5}} = \frac{1}{x^{4}} = \frac{1}{x^{4}} = \frac{1}{x^{4}} = \frac{1}{x^{4}} = \frac{1}{x^{5}} = \frac{1}{x^{4}} = \frac{1}{x^{4}} = \frac{1}{x^{5}} = \frac{1}{x^{5$

Eve . Given
$$\int_{-1}^{1} \frac{dx}{x+z} = \ln(x+z) \Big|_{z}^{1} = \ln(3) - \ln(1) \approx 1.09861$$
 [60
• Estimate this integral using [1] $G_{2}(f)$ [2] $G_{3}(f)$
[3] $T(f,h)$ with $h = 2$ [4] $S(f,h)$ with $h = 1$ [32: 4 chapping
[1] $\int_{-1}^{1} \frac{dx}{x+z} \approx G_{2}(f) = f(\frac{-1}{\sqrt{3}}) + f(\frac{1}{\sqrt{3}})$ $f(x) = \frac{1}{x+z}$
 $= f(-0.5773) + f(0.5773)$
 $= \frac{1}{1.422} + \frac{1}{2.577} = 0.7032 + 0.3280$
 $= 1.091$
[2] $\int_{-1}^{1} \frac{dx}{x+z} \approx G_{3}(f) = \frac{5f(-\sqrt{3})}{2} + 8f(0) + 5f(\sqrt{3})$
 $= \frac{5f(-0.7745) + 8f(0) + 5f(\sqrt{3})}{9}$
 $= \frac{4.091}{9}$ $\frac{1}{2} + \frac{1}{2} + \frac{1}{2} + \frac{9.883}{9} = 1.098$
[3] $\int_{-1}^{1} \frac{dx}{x+z} \approx T(f_{1}z) = \frac{h}{2} [f(-1) + f(1)] = f(-1) + f(1)$
 $= 1 + 0.3333 = 1.333$
[4] $\int_{-1}^{1} \frac{dx}{x+z} \approx S(f_{1}1) = \frac{h}{3} [f(-1) + 4f(9) + f(1)]$
STUDENTS-HUB.comp.0.3333 [1 + 2 + 0.3333] = 0.3333 (3.5332) = 1.100
Estimate $\int_{-1}^{1} \sin x \, dx$ using [1] $G_{2}(f)$ [2] $G_{3}(f)$
[3] $\int_{-1}^{1} \frac{dx}{x+z} \approx G_{3}(f) = \frac{5f(-\sqrt{3}) + 8f(0) + 5f(1)}{2} = -5in \frac{1}{\sqrt{3}} + 5in \frac{1}{\sqrt{3}} = 0$
[4] $\int_{-1}^{1} \frac{dx}{x+z} = \frac{1}{\sqrt{3}} [f(-\frac{1}{\sqrt{3}}) + f(\frac{1}{\sqrt{3}}) = -5in \frac{1}{\sqrt{3}} + 5in \frac{1}{\sqrt{3}} = 0$
[5] $\int_{-1}^{1} \frac{1}{\sqrt{3}} + \frac{5f(-\sqrt{3}) + 8f(0) + 5f(\sqrt{3})}{9} = 0$

$$\frac{\zeta_{avss-Legendre Translation}}{(6)}$$
(16)
• How to use $G_{1}(f)$ and $G_{3}(f)$ to estimate $\int_{a}^{b} f(x) dx$
• we use change of variables to transform the limits of
integration from $[a, b]$ to $[-1, i]$:
 $x = \frac{a+b}{2} + \frac{b-a}{2} t \implies dx = \frac{b-a}{2} dt$
• when $t = -1 \implies x = \frac{a+b}{2} + \frac{b-a}{2} = a$
 $t = 1 \implies x = \frac{a+b}{2} + \frac{b-a}{2} = b$
• Hence, $\int_{a}^{b} f(x) dx = \int_{-1}^{1} f\left(\frac{a+b}{2} + \frac{b-a}{2}t\right) \frac{b-a}{2} dt$
 $= \frac{b-a}{2} \int_{-1}^{1} f\left(\frac{a+b}{2} + \frac{b-a}{2}t\right) \frac{b-a}{2} dt$
 $G_{2}(f) = \frac{b-a}{2} \left[f\left(\frac{a+b}{2} + \frac{b-a}{2}\left(\frac{-1}{\sqrt{3}}\right)\right) + f\left(\frac{a+b}{2} + \frac{b-a}{2}\left(\frac{1}{\sqrt{3}}\right)\right)\right]$
and
 g
 $M = \frac{f(a+b+a)}{2} + \frac{f(a+b+a)}{2} + \frac{f(a+b+a)}{2} + \frac{f(a+b)}{2} + \frac{f(a+b)$

Use two-points Gauss - Legendre rule to approximate 162

$$\int_{1}^{5} \vec{e}^{x} dx = -\vec{e}^{x} \Big|_{2}^{5} = -\vec{e}^{5} + \vec{e}^{2} = 0.3746173882$$
• $x = \frac{a+b}{2} + \frac{b-a}{2} t = 3 + 2t$
 $dx = 2 dt$
• $\int_{1}^{5} \vec{e}^{x} dx = \int_{-1}^{1} \vec{e}^{(3+2t)} 2 dt = 2 \left[f(\frac{-1}{\sqrt{3}}) + f(\frac{1}{\sqrt{3}}) \right]$
 $= 2 \left[-\frac{(3+\frac{-2}{\sqrt{3}})}{-1} + \frac{e^{(3+\frac{2}{\sqrt{3}})}{2}} \right] = 0.3473369892$
EVEN Use three-points Gauss - Legendre rule to estimate
 $\int_{1}^{5} \frac{dx}{x} = \ln x \int_{-1}^{5} = \ln 5 = 1.6094379/24$. Use Y chapping digita.
• $x = \frac{a+b}{2} + \frac{b-a}{2} t = 3 + 2t$ with $dx = 2dt$
• Now $\Rightarrow \int_{1}^{5} \frac{dx}{x} = \int_{-1}^{1} \frac{2 dt}{3+2t}$ with $f(t) = \frac{2}{3+2t}$
 $= \frac{5f(-\sqrt{2}) + 8f(0) + 5f(\sqrt{2})}{9}$
STUDENTS-Hypergram ($\vec{b} \cdot 7745$) + $8f(0) + 5f(0.7745$]
 $= 0.1111 \left[5(\sqrt{3}78) + 8(0.6666) + 5(0.4396) \right]$
 $= 0.1111 \left[5(\sqrt{3}78) + 8(0.6666) + 5(0.4396) \right]$
 $= 0.1111 \left[5(\sqrt{3}78) + 8(0.6666) + 5(0.4396) \right]$
 $= 0.1111 \left[(14.41) \right]$
 $= 1.6$